400 s AiEs > 7 | OT-40KX

B B - 39.0 ¢
/@ @ 8 "N B R 43.5 ¢
: - = 21 & KUIZTABIHRE  T/RU- (5Y76/D
/‘\,\// \\f N\ | 2ovr : mRI0A-1
A % o O PT1/8  Yhvh
— 1S 155 185 # ~
I NI L ol B KL >O M8 Yy b
Na! -
i & 8 @@ i Mg D N K F RSBt THEIL TLIEE W,
\o] EE SN
S—
\___—\\ // /)
DN = 1) (10 PT1/8
B 155 -
15 010 15 AXEH Nl
RarauiL-S ey
540 B I N g
” PF1/4
SR = | o 2hU-F3y 25M(S=1/2)
( ) ) ( | W BH0EM(S=1/2)

[~
1
284

13 [BEESS~b|aekyI2TFe| 1 |10x40
12 [AVUYEES~viaeRlEZ-n| |1
S 11 |R=RZv )b (%Z?MBD) I [e72
0 10 [2L7Fu bk |foneasn I |PF1/4 ¢8
9 [KUvmwh [ SRRSRELRY | Mgx1S
8 [ArL-Favo |AZHER I |PF1/4 20748
7 st REEAR | 1
6 [2rL=F (B2 RaTV7 | 1 |1002y va
5 [wwooe  |[BREETR | |
4 |m0F+y 7 |BREERR | | IxRo0A-r2Z20)
3w - |[BREEER | 4
2 |25 VK DRCETEAM 0 | 48 FEIDA- b
(50) (536) (50) L |pvokk  |SERDEET L |t
‘ ‘ S| oo % 7 B A% & =
(636) 340 = R | 1/6 B AH
ol =y e ED F—F 40 Jyh-

1




